25 EX

3 EX2ele aEHEERXNAMNL/XARLEAI)
SRl NXHSAC EXHE 29 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
EXI 1t 7,120,435 6,065,514 1,064,921
= 5,637,045
== 1,483,390
EX2Le EE2HIELXSML/NSLZA) 7,079,291 6.025,206 1,054,085
= 5,637,045
= 1,442,246
DASEe EXYE 2 873,197 886,197 213,000
= 859,427
=S 13,770
EXZel & HHEAM =t 7,770 7,770
201 er2 3| 4,200 4,200
01 At2tlt] 4,200 4,200
OZXAL =& 2FEIIHA 8- 2
g 4,200
202 04| 3,570 3,570
01 2L AL 3,570 3,570
OEXZel & HlZEA &E 3,570
HEZARDIL HREFX(Z1) 865,427 878,427 13,000
= 859,427
= 6,000
201 Ler23 | 8,000 9,000 21,000
= 4,000
== 4,000
01 At2teltl 8,000 9,000 21,000
OHESAIXIL R 8,000
= 4,000
< 4,000
202 04| 4,000 6,000 A2,000
= 2,000
= 2,000
01 =LHO LI 4,000 6,000 22,000
OIESAIXIIL HREFA 4,000
= 2,000
=S 2,000
308 AHXIEMSOIE 853,427 863,427 10,000
= 853,427
01 AXEH B2 LS 853,427 863,427 10,000
OINESAIXIIL ZAF E AHH 863,427
= 853,427
EXNNE 2& 684,520 120,920 563,600
= 670,000
= 14,520
NE=g o2l 14,520 45,920 A31,400
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SA: EX
3 EX2ele aSsHEERXNAMNL/ AL EAI)
gelr EXNE 2 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
201 er23| 4,320 37,420 233,100
01 At2teltl 4,320 37,420 /33,100
OXHeE 29 4,320
202 04dl 10,200 8,500 1,700
01 =LHOHI 10,200 8,500 1,700
OXH=E ozl 10,200
XE2e|(21) 70,000 75,000 A5,000
= 70,000
308 AXIMSOIA 70,000 53,000 17,000
= 70,000
01 RSN B EES 70,000 53,000 17,000
OGPS HAIZEA & 2tED01H S 2 70,000
= 70,000
272 0ISEEX Ul AHE(21) 150,000 0 150,000
= 150,000
308 AXIHSOIA 150,000 0 150,000
= 150,000
01 AXHBE2ES 150,000 0 180,000
042 0ISEEXN EHl 150,000
= 150,000
AZXAME FH AFE(=21) 450,000 0 450,000
= 450,000
308 AtAIEMSOIE 450,000 0 450,000
= 450,000
01 XN BELES 450,000 0 450,000
OHEXAT HHIAIE 450,000
= 450,000
SUHEEE - dXEA MY 1,027,068 284,775 742,293
SUEEAMNY =8 & g4 1,027,068 284,775 742,293
201 er23| 115,568 175,000 N59,432
01 At2teltl 3,600 4,000 2400
O8IIeE =& & TE+r8 S 3,600
02 S3=gl 111,968 171,000 A59,032
O=UIEALEY & 2UEE RAEF 111,968
202 O] 11,500 9,775 1,725
01 2K 11,500 9,775 1,725
OSUHEEAME =8 & & ddg?R N 11,500
207 ARl 900,000 900,000
02 MAHHZHI 900,000 900,000
OAIDIBt SUHESAIAR L3 900,000
CRHFA - BSA 2 378,368 386,709 28,341
CEHFA AN A 120,160 119,330 830
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25 EX
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ok
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Hlw
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6,800
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100,000
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39,173
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228,206

4,346,605

7,500
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2,400
5,100
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4,339,105

8,000

8,000
2,000

2,000

4,329,105

Ofl &F2H

12,000
12,000
8,000
4,000
8,160
8,160
8,160
100,000
100,000
100,000

202,831

55,377
55,377
55,377
55,377

202,831
202,831
202,831
4,116,138
4,107,618

fir

W
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8,520
2,400
2,400
2,400
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6,120

4,107,618

fir
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2,000
2,000
2,000
2,000
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4,107,618
4,097,618
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A EXI
M EX2e|e SEHZELNANY/XNALTAI)
Rl XIETHZAAIS (CHe) &)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
01 HXSHH B E2ES 4,097,618 4,329,105 A231,487
OXIEMZEAL ALY 4,097,618
= 4,097,618
HE2HZHI(EXID) (JIEHIIEH 41,144 40,308 836
Jl=2dsl 41,144 40,308 836
FA2E Jl=2H| 41,144 40,308 836
201 L= 28,584 28,584
01 AF22t2ltl 28,584 28,584
ORAM2E AR 22l 28,584
202 044l 8,360 7,524 836
01 =LA LI 8,360 7,524 836
ORKAK2g =LH0HI 8,360
203 YR=EH| 4,200 4,200
4 RFA2SLRFEI 4,200 4,200
©2521 0lat 4,200
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